Optional Rack Ears

Allows permanent fixing in a plinth or rack system. Ears bolt on to the sides of console.
Fix in place using M6 screws or bolts. Contact your Allen & Heath agent for further
information.

Order code: XONE2:62-RK or XONE2:62-RK19

EELTYYY © ©
6x M4x8 PAN POZI SCREWS
O O O O O O
600 0 0 0 0 o o
4x MBx16 PAN SLOT SCREWS o © o[] o[] o] o] o[] o[] ©
O @) O O O O
@@1@@ O@ ©
4x M6 CUP WASHERS Q Q O O O Q Q
@) @) O O O @) —
O
O O O O O O D@
O O o O O O <
O O D D OO o
(e e R A O e O
© © © © © © Q
JUTEUE ) o
0 0 0 O [ ]
SD SD SD SD []
@] © oy o ® ® o} l:l ©
O [} ¢} O
O ©°d o 0 O
© o
) . ©
o O O O O O O
O O O O O O
Q@ o o o oJ o0 o] H ©
T T F T F ¥ O O O O O O s 5
W O O O O O o ° o
bx M4x8 PAN POZI SCREWS O O O O O O S
FEEFTETE - © o 0 00 0 §
\ o o O o O o <O
8x M6ex16 PAN SLOT SCREWS R -
X X
O O OO O O 0o O
U1 on Uron un uf .
a|| 5| 8| @] 8| 6B ©
\ o o O O ]
8x M6 CUP WASHERS o l l i) °D om °D % °
) o co
© ©




